KENDRIYA VIDYALAYA SANGATHAN
CBT ANSWER KEY
CLASS 4 AUGUST MONTH

Marking Scheme

Total number of questions - 40
Total marks -40
Each section - 10 marks 1 mark for each question

SUBJECT : ENGLISH

Read the passage and answer the questions given below.

Cats are popular pets all over the world. They are independent and known to take care
of themselves. Cats come in a variety of colours and patterns such as black, white,
orange and calico. Some cats have long hair, others have short hair. Cats are good at
catching mice and other small animals. They use their sharp claws and quick reflexes to

catch their prey.

Cats also have very good hearing and can see very well in the dark. Cats have a unique
way of communicating with their owners. They can also meow, scream, and even make
chattering noises with their teeth. Cats also have a way of showing affection by rubbing
against their owners. also have a way of showing affection by rubbing against their

owners.
1.What is the primary method cats use to catch their prey?

A. Sharp claws and quick reflexes
B. Strong jaws and sharp teeth

C. Speed and agility
D

. Camouflage and stealth

2. What is a common pattern found in cats?



A. Stripes

B. Spots

C. Polka dots
D

. Calico

3. How do cats communicate with their owners?

A. Through meows and screams

B. Through body language and purring
C. Through barking and growling

D. Through telepathy

4. How do cats show affection to their owners?

A. By bringing them gifts

B. By cuddling and licking
C. By rubbing against them
D. By playing fetch

5. How well do cats see in the dark?

A. Not well at all
B. Somewhat well
C. Very well

D. Extremely well

6. Fill in the blanks. - The party is Mary's house.




A
B. On
C. at
D. above

7.In the poem "Run!" where does the poet want us to run ?

A. away

B. nearby
C. Inside
D

outside

8. Archery is

A. protecting from attack
B. talking informally

C. great surprise
D

. shooting with a bow and arrow

9.Replace the bold word with another suitable word.
Harry was surely not a good archer.

A. nearly
B. clearly
C. certainly

D. remarkably

10.Choose the correct word which can be replaced with the bold word.



The tiny kitten was not old.

A. sleepy
B. funny
C. young
D. alone

SUBJECT : HINDI
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SUBJECT : MATHS
Month of August
Questions- An school has going of a trip to Indore by school bus many students are willing

go there of class 1to class 4 . the list of students.



Total Number of | Number of Students
CLASS Students present
I 30 25
Il 35 32
1] 35 30
IV 40 35

Q1 Total number of the students in the school?
A) 130
B) 120
C) 140
D) 200

Q 2 Total number of students present in the school?
A) 120
B) 122
C) 132
D) 130

Q.3 total number of students absent in the school?
A) 20
B) 18
C) 15
D)16



Q.4 how many students in class 4th?
A) 30
B) 35
C) 32
D) 40

Q.5 how many students present in class one and class 2?
A) 57
B) 75
C) 60
D) 65

Q.6 a goat has 4 legs so 300 goats will have....... legs?
A) 1200 Legs
B) 1300 Legs
C) 1400 Legs
D) 1000 legs

Q 7 a football match start 3:30 p.m. and ended at 2:26 p.m. how long did the match
last?

A) 1 Hour

B) 50 minute

C) 56 minute

D) 60 Minute



Q.8 what date will be 86 days before 20 June?
A) 30 June
B) 14 June
C) 26 June
D) 12 June

Q.9 how long your lunch break?
A) 30 MIN
D) 20 MIN
C) 15 MIN
B) 40 MIN

Q.10 find the correct time .
A) 4:55
A) 4:20
B) 9:20
C) 9:45

SUBJECT : EVS

1.How many passengers are travelling on the ticket?
A. One

B.Two

C.Three

D Four



2.The name of the train is
A.Bandra Terminus
B.Ratlam Junction
C.Avadh express

D.None of the above

3.What is the date of journey?
A.24-12-2006
B.25-12-2006
C.27-12-2007
D.28-12-2006

4..Gandhidham ,Ahmedabad and Valsad are cities of the state of
A.Madhya Pradesh

B.Gujarat

C.Uttar Pradesh

D.Maharastra

5.The states that one does not cross while travelling from Gujarat to Kerala is
A.Maharastra

B.Goa

C.Karnataka

D Madhya Pradesh



6.Where are the tunnels usually built for trains?
A Underwater

B In the sky

C Through mountains

D In forests

7.Why are bridges important for trains?
A.To help them fly

B.To cross rivers and valleys

C To cross forest

D None of the above

8.What are the information that we can get from Railway time table?
A..Details about the route the train will travel
B.Time the train will reach or leave the station
C.Distance covered
D.All of the above

9.Which of the following is an Island?
A.Goa

B.New Delhi

C.Bhopal

D. Andaman and Nicobar



10. Where are level crossings made?
A.At train stations

B.On bridges

C.Across roads and railway tracks
D.In parks



